
SPTA 

Block 7  

Revision Questions 

Show all working – No calculator allowed. 

        

1.  Sketch the following Trig graphs, 0° ≤ x° ≤ 360°  

 a)    y = 3cosx°  (b)   y = 2sinx   (c)   y = 1.5cosx 

 

 

2. State the period for each of these equations: 

 a)    y = sin2x    (b)   y = cos4x   (c)   y = sin1/2 x 

 

 

End of Non-Calculator Section 

 

 

 

Show all working – Calculator allowed. 

     

 

 

3. Solve these equations, 0° ≤ x° ≤ 360° 

 a) 2sinx – 1 = 0   (b)   3cosx + 2 = 0  (c)   1.5 – 2sinx = 0 
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